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1. A sum of money amounts to X 2240 at 4% per
annum simple interest in 3 yr. The interest on the
same sum for 6 months at 3.5% per annum is

BT SIp3BF) X 2240 3, 4% edes JTY WEM 3
IRENYY. Dode3 3.5% 003 6 SonY¥I3R e
333 08 axy?

[SSC MTS 2013]
(a) 330 (b) X 50
(©)%35 (d) 150

2. A man invests a part of X 10000 at 5% and the
remainder at 6%. The 5% investment yields
annually X 76.50 more than the 6% investment. The
amount invested at 6% is

22 @30d X 10000 3 2yeriasd), 5% D) v9B 6%
SO BRRE BT, 5% BRBSWD TededweN 6%
BRB3N0E8 X 76.50 Bed), ADST. 6 Tw), BeBS
83 Ze8 oR)?

(a) T 3600
(c) X 3850

(b) 3350
(d) T 4000

3. A sum of money at some rate of simple interest
amounts to X2900 in 8 yr and to X 3000 in 10 yr. The
rate of interest per annum is

30 IOV wE FOBO B3 FeTY) 8 SRETS T 2900
) 10 IRFBY T 3000 SADIT. A8 WG B3I

ch._‘;\?J?
(@) 4% (b) 2 % %
(©) 3% (d) 2%

4. A took two loans altogether of X 1200 from B and
C. B claimed 14% simple interest per annum, while
C claimed 15% per annum. The total interest paid by
Ain one year was X 172. Then, A borrowed

@ W0T D DI & AT e, X 1200 OTD Tov
SrichBeoBd. B SRS, 14% IOY wBodY, 3,;3F
e80T, C SR, 15% 3,3 o83, 2,00 IRETY

D TOB3DT ER), ao&a 2172.9 aaigj T éd&mad?

[SSC CGL 2011]
(a) X 800 from C (b) X 625 from C
(c)X400 from B (d) X800 from B

5. Atook a certain sum as loan from bank at a rate of
8% simple interest per annum. He lent the same
amount to B at 12% simple interest per annum. If at
the end of five years, A made profit of X 800 from the
deal, how much was the original sum?

A BB TAFS 8% TTY WG BTBY 239,030B 208D
A0 BB TN SrichEeoBd. BT ede
SeBI, Bl 208 12% STY 871 AeBBD. 2
SRENY BeIahe, A X 800 20w 08003 923 RIS,
w0 ST ar)?

(a) X 6500
() X 6200

(b) T 4000
(d) X 6000

6. Varun invested a certain sum of money at the rate
of x% simple interest per annum for 50 yr. At the end
of 50 yr, Varun got back 4 times his original
investment. What is the value of x?

SDHEF 50 IBFB, X% BOY WG TOBO ADFF, RPTIY
BeA3 IRBTD. 50 IINY ZeIWY, SIS 33

Swew BRBBD 4 By, LB, BETD. x 3 BPY; O?

[KVS LDC 2018]
(@) 5%
(c)6% 3

(b) 6%
(d) 4%

7. Alipta got some amount of money from her father.
In how many years will the ratio of the money and
the interest obtained from it be 10: 3 at 6% simple
interest per annum?
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003 33 SoBWOT I, BeEIT, IFEW. OR)
SREAVE B3 LTS ) ©TOT IEF B
TRAES 6% TOY RS 10 : 3 SADTE?

[SSC CGL 2016]
(@7
©5

(b) 3
(d) 4

8. If the simple interest on X x at a rate of a% for m
yr is same as that on X y at a rate of a% for m?yr, then
x:yis equal to

Myr i a% 3830 I x DedS ITY wBw m? yr it ax
333Q Iy 1t SreS@eNGT, BT x @ y eI T3B,

SBrexmNG [SSC CGL 2011]
(@m:a (b)am: 1
(©=:= (d)==:1

9. The simple interest on an amount'is 2/9 of
principal. If number of years is twice the rate of
interest, then for how many years that amount was
given?

B33 ed TTY w&acm) 0900 2/9 8NT. IRENY
50&)’603.1) u&a 303,08 QTR D), facgd, es a’xa@ddg(
o‘-’wd BRENPION Ve@eroNS?

(a) 2 ()63
()4 (d) None of these

10. The simple interest on a sum of money is % of the

principal and the number of years is equal to rate of
interest per annum. The rate per annum is

B3 333 eI ITY 0By WTOI 1/9 8N
DF) SREAY SoPody  Deds W BT,
BST[TNDBT. TMeBT Soded BT OR),

[SSC CGL 2011]
()3 %
(d)% 10

(@) 3%

©33;%
11. A person deposits its one part of the saving in
bank at 10% and other part in post office at 8% of
simple interest per annum. If he deposits all of his
saving X 57000 in bank, then he will get X 500 more

interest at the end of the year. Find the amount
deposited by him in bank.

%) FB30d) GVPTIADT 20T WINSK, Y033
10% ) B:3R,0W) NS ©0ed BeIedohO Fode3
8% TTY WRWDY Fed@ BDTIS. 03D IF
eUPZ0HT I 57000 IR, 209,080 Beded @oBTT,
SworoZBY BT X 500 B 0B INHIT. 0TI
9033Q BeaSe3 B SBRBBIY B0DHED.

[RRB Group D 2018]
(a) X 30000 (b) T 29000
(c)X 32000 (d) X 25000

12. A sum of X 5000 lent on simple interest amounts
to X 5700 in 2 yr. If the rate of interest is increased
by 4%, then what would the sum amount to in the
same time period?

J3¥ B X 5000 Tow) ANBRS 2 SRR X 5700
eSrH3d. wE BOBRY, 4% BYIBT, TMeBT OFe

SRENYO B3 QWIS [MAT 2013]
(a) X 5980 () X 6100
(¢) X 5900 (d) X 6300

13. Two equal sums were lent, one at therate of 11%
per annum for 5 yr and the other at the rate of 8%
per annum for 6 yr, both under simple interest. If the
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difference in interest accrued in both the cases is X
1008, then find the sum.

OV IR SRTSY, TN AeBUALID, 20D
SR€, 11% BOBY 5 IRENYST DB |3R,0D
3RS, 8% BOBY 6 IREMYST, 98B ITY 0Bd
BobY. aT@e JoTIeNFY WFab D X 1008
B8NZ3, BeZTD, B0 SRBAO.

(a) 11200 (b) 5600
() X 12600 (d) T 14400

14. At some rate of simple interest, A lent X 6000 to
B for 2 yrand X 1500 to C for 4 yr and received X 900
as interest from both of them together. The rate of
interest per annum was

303 VY wRBTTY, o 2 IR, 6000 B i D) 4
3R, X 1500 C 11 To0 B B 1) Ooduwe
2&0ireN X 900 BETD. TeAES WE BT S0@DHBALO.
(@ 5% (b) 6%

(c) 8% (d) 10%

15. The simple interest accrued .on a sum. certain
principal is Y1200 in four years, at the rate of 8% per
annum. What would be the simple interest accrued
on thrice this principal at the rate of 6% per annum
for 3 yr?

200 VT, BT IBT SedT TTY WD e,

SRENYY X 1200 SNDBT, Tode3 8% BITO. 3
IRES, DoAES 6% BT, B BpBA DeeS Swedh Ted),
VO BDeE TVTY WG OR)?

(a) 32025 (b) T 3025

(c) X 2225 (d) %2150

16. The simple interest received on an amount is X
1200 for 12 yr. If principal is thrice after 4 yr, then
the simple interest at the end of 12 yr, is

2030 e SET oY wBaky 12 Iz, T 1200
SAT. o) 4 SREY [030 I3 Rt B,
2T, 12 IReNY S030 <OV w8 2DHIH?

(a) X 2000 (b) X 2400
() X 2600 (d) X 2800

17. A part of amount X 10000 was invested at the
rate of interest of 8% and remaining at 10% per
annum. [f average annual interest rate is 9.2%, then
these two parts are

310000 SBT3 2,08 2o 8% w8 BOBO BeBS
SeBduNG BP0 WNSRY, Dedes 10% TR,
BeB3 SBUNG. JoeRO @eded wE BT 9.2%
B8NS, OTRR Wit @ed o) ?

(a) T 4000 and 6000 (b) % 4500 and X 5500
() 5000 and X 5000 (d) X 3500 and ¥ 6500

18. If simple'interest on an amount is equal to 30%
of the principal in 6 yr, then after how many years
simple interest will be equal to principal?

200 B33 DI TTY WG 6 SIENTYY B
30% 3, STNGT, OR), IRENY S0ST ITY 0G4
RO VST NDIE?

[SSC CPO 2013]
(@) 20
(010

(b) 30
(d) 22

19. Srinivasan invests two equal amounts in w banks
giving 8% and 12% rate of interest per annum
respectively. At the end of year, the interest earned
is X 1500. Find the sum invested in each bank.

Pafge | 3
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DLATTY OTD  JedesmeN 8% DA 12%
WBEBOBTY, ANDT  WY0FNYY AT [
SRTSY, BB ST, IR FPIWDY, 19T
w8 X 1500. B3 w053 BeB3 BB BeSJI),

B0@&HAMNO [AFCAT 2018]
(a) T 8500 (b) X 15000
(c) 7500 (d) T 17000

20. A certain sum of money was invested as simple
interest at a certain rate of interest for 3 yr. Had it
been invested 5% higher rate it would have yielded
X 1500 more. What w the principal invested?

2ot ABFY [eIIN 3 IIMY B0 DT,
2BTBOBO ITY BN BEBS BRI, 5%
By O8O BeAS BAGS T 1500 e, aWSO
WHEB). AR, BN BGE B

(a) 10000 (b) X 11000
() 12000 (d) X 10500

21. A sum of money became X 2700 in two years If
the simple interest offered per annum was 2% more,
the amount would have become X 2800 during the
same period. Find the original sum and the rate of
simple interest offered every year.

AVD IRNYY 20D I3y I 2700 S,
DIAEBDN AeBderorhS BT w&ecﬁn 2% ée.zzgd, e9z3e
30O 33 X 2800 SrHSI). Sww 33 DI

)3 SR VeBUHS TTY WE BOI, B0DHBO

[KVS LDC 2017]
(b) T 2500; 4%
(d) X 5000; 4%

(a) T 5000; 2%
(c) X 2500; 8%

22. A sum of X 2189 is divided into three parts in
such a way that interests for 1, 2 and 3 yr are equal.
[f the rate of interest is 4% per annum in each case,
then the smallest part of amount is

3 2189 FR3INY 1, 2 DIA) 3 IVFAY BBIAW
SAoNTNDS  De3ab)  @wed  werinwen
QonBRINT. B3 [oTIFTY WRH TP ToAeB
4% NGT, 53T 238, worid)

(2) X 756 (b) X597

(€)X 702 (d) T398

23. A sum of X 17500 is lent out in two parts such
that one part is at 24% and another part is at 10%
rate of interest per annum. If the total interest paid
by him at the end of five years is X 13300. Find the
ratio of sum at 24% and 10% rate of interest.

X 17500 SpBSR, OTR Wennde Qedwarh3d,
©OBT 20T Yy 24% DA WROW Wt
D03 10% 08 3603, . SAENY. B30
3D @oBSAT e, B X 13300 8NGS. B33

ODTBIRY . 24% @D 10% 2 3I3O
BoRHEM0.

[SSC (10+2) 2018]
(@) 12:13 (b)3:4
(©)3:2 (d)13:22

24. What annual payment will discharge a debt of X
5000 due in 3 yr at 6% per annum simple interest?

0393 DAEB Toxm3adw I 5000 moddg( 3 da’m%ie.g
DIAES IV &)&an’ 6% da’% DRAN3 a’md)éd?

(a) X 1572.32 (b) T 150
() X 1572 (d) 3 1575.5

25. A person invests X 12000 as fixed deposit in bank

at the rate of 10% per annum simple interest. But

due to some pressing needs, he had to withdraw thlge
a
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entire money after 3 yr, for which the bank allowed
him a lower rate of interest. If he gets X 3320 less
than, what he would have got at the end of 5 yr, then
the rate of interest allowed by bank is

we) B3 X 12000 O, DdF3 IVY wG IVBO
W905°3Y JT TeSedadroN BB Sorhes. BT
30 DB LNFNY S06, vSD 3 IREY [0S
ROZPEE BEITY, LoBTEobeSeSoAD, VBFY,N 239,05°
oS0 B8 WBBOSRY, ORDRDEID. 5 IIENY
So30 BHabeiezoNg ®ad,03 3320 T NYRY BBD
BBTT, B8N 29;05° LRDRDSWES WEWD BT o, ?
[SSC (10+2) 2012]

©72% (dD)7:%

@72% (b)81%

26. Mr. Pawan invests an amount.of X 24200 at the
rate of 4% per annum for 6 yr to obtain a simple
interest. Later he invests the principal amount as
well as the amount obtained as simple interest for
another 4 yr at the same rate of interest. What
amount of simple interest will be obtained at the end
of the last 4 yr?

2e IIT OID IOV wBDRY  IFobey 6
SREVEOR TAF8 4% BOBO X 24200 SRIIY,
B8 FRWTT. 03T VT VB TP, D)
ote wBECBY WD 4 IRAVISH TSV
2EARN BET SHIIRY, BeBB SRS, VS 4
SRV 2SO WS FIRT IOV WY,
SEIHT?

(a) X 4800
(c) 34801.28

(b) X 4850.32
(d) T 4700

27. A earns an interest of X 2880 on a certain sum
when it is invested for 3 yr at the rate of R% simple
interest per annum. B earns an interest of Y4000 on

a certain sum when it is invested for 5 yr at the rate
of R% simple interest per annum. The sum invested
by A is what per cent more than that invested by B?

SR, R% B0V 28 B060 3 Swed, R0 arodoen
20m ABFE [R3T e T 2880 wHobRh A
A9, B 5 3RF8, R% <OV w8 T030) 2683
SBoon ADFF Fe3T e T 4000 R
AOR3E. © ReBE B3 Fe3Y O Red3

Se8533,08 Fesme o), Fed),?

[IDBI Clerk 2018]

(2) 66= % (b) 333 %

(c) 30% (d) 40%
(e) 20%

28. Reena had X 10000 with her. Out of this money,
she lent some money to Akshay for 2 yr at 15%
simple interest per annum. She lent remaining
money to Brijesh for an equal number of years at the
rate of 18% simple interest per annum. After 2 yr,
Reena found that Akshay had given her X 360 more
as interest as compared to Brijesh. The amount of
money which Reena had lent to Brijesh must be

Oeme w9 10000 @3). s BT, TR 3IREB, 15%
SOY 81 2 SIY v Ju, DS, OZAT
TN BRBW. IR, 18% TTY WG BCTO 9BW
QUPT BEIBIY, D)eieTt SeR SRENYST ToweeN
QEBBR. 2 IRENY J033, Dewvoe ARed T BpedIT3
gl SI I 360 Tad WBAHR, ABDITIY
30RER0BRW. Oeve Delert TowmaN B3y &6

ch_;S.)d?
(a) X 4000 (b) 2500
(c) 3500 (d) T 4200
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